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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate
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Q1

36, 54 3T 108 &1 H. T .fargar gem?
The HCF of 36, 54 and 108 is:

Ans Kl_g
X212
X36
VEST:
Q2 Fm, 1 sit Brm o o & aew F A 99 & W g s e P

& orw g | oo o Hit 0w R & o am R & 9w a5 a e o
ar?

Tapan, Ravi and Trisha shared a cake. Tapan had * of it, Trisha had * of it and Ravi had
the rest. What was Ravi’s share of the cake?

Ans I i ]_J.:;
X2z
xo2
Xz

Q.3

ugell |t arepfde HEATs @ e =g

What is the mean of first hundred natural numbers?

Ans

Ans X 1.51.5
X 2.5]
v 3505
X450
Q4 THUFT FEN H AT 456 T T frr s b & v e A

o 3 e #l O wed S dew s g

Amnatural number, when divided by 4, 5, 6 or 7, leaves a remainder of 3 in each case.
What is the smallest of all such numbers?

X 1.843
X 2213
v 3423




X 463

Q5 m BT & U H S WA ¥ wAtAT A& 2

DIOS)

A B C D
Select the figure which does NOT belong to the group.

DO

A B C D
Ans X' 1.D

X2 A

vsacC

X4+B

Q.6 =R FaT g2 Ut & v o & e e ¢ st v w16 gT R s g,
3 37 7= e By 8 o e e € 3 o O 3 24 JEgU dUR A B, S
FFT AT

If a young son works quickly for 2 hours and prepares 16 items in a day, and his old father
works slowly for 8 hours and prepares 24 items in a day, which of the following is true?

Ans g $1 FAT 30+
b
The son has more energy.

2 araAT & AT v TAA B
Both have equal power.

X g1t & F=T Uh TAA &
Both have equal energy.
v g Fr ufee e g

The son has more power.

Q.7 T FEFISAA AV H, T gorargier 5.0 % 10~ m 2w r e # 2.2 x 106 ms 7ifey
F Tora ¥ | TR faega ur Fn & (aega amer = 1.6 107 )

In a hydrogen atom, an electron moves in an orbit of radius 5.0 x 10~**m with a speed of
2.2 % 10° m/s. What is the equivalent current? (Electronic charge = 1.6 x 10-*? C)

Ans  X'1.0.112 mA
X 2112mA
V'3 1.12mA
X 411.2mA

Q8 s ¥ form e W TS U HANAT FEA 87
The square root of which of the following numbers is irrational?
Ans o 1. 6560
# 2 3969
X 31764
X 4 5625




Q.9 & 75 agla # WEr avvr-ofy o IR @ T@r offer afeshr @ an

~
N

LLLLLL L7

Select the correct mirror image of the given figure if the mirror is placed horizentally as
shown.

o
\

Ans

I (G e




Q.10 FHf¥ET== (mitosis) & =T & A @, owE e Renew ¥ & oA
Few @ | g g &2

Name the stage of mitosis during which the chromosomes of a dividing cell lies at the
equatorial plate?

Ans
X1 TATHS
Anaphase

AR
. Metaphase

Bl

3.
Prophase

ToAhaT

4

. Telophase

v

Q1 & % AEET H W HJIEUT HEA F =TI |

3,12, _, 21612

Select the number missing from the given series.

3,12, 21612
ans X 1149
X 2 200
v 3147
X 4150

Q.12 fofr e F FW A, Th TSR H Ieadal  HIOT 30° ATl T 45 AT S0
o 3R SorETEY Fur et F A afeer gl 40 3 #Aex ot woew Fr T
et ofr?

From the top of a platform, the angle of elevation of a tower was 30°. The tower was 45 m

high and the horizontal distance between the platform and the tower was 403 m. What
was the height of the platform?

Ans oy 45‘/5 HreT
45y3m
AL
S5m
X s 40 #Hrex
40 m
\ 2043 #Hrex

X
20v3m




QB &r 715 HGTA F A H TS aren WY WA TS IoA|

Problem Figure
A
: O
Answer Figures
) O ) ol [RV] [V
A v O] [O
A B C D

Choose the correct water image of the given figure.

Problem Figure

DS

Answer Figures

D2 P91 1Pl (65
Ans KlAD ° N
v 2B
XA
Xac

C

Q.14 el aXel T WA AET % forv Peafof@a F & g wihar & aifa g it
g

‘Which of the following processes will take place the slowest for the same quantity of
liquid?

Ans a—a’!m
Xu_ .

Boiling
aredeRoT
Evaporation
p HeleT
Condensation
IREIED

Freezing

v

X a

Q.15 TS g THiGTHT FRTHT forhe HT &F s 9T I T/ TRAT
TEersr sl §2 39 [@eS oF a9 2016 & ¥ 39atey @fder @ o

‘Who is the first Indian player to score a century in his debut One day International Cricket
match? The said player achieved this feat in 2016.

Ans
" &0 g
K.L. Rahul




X2 =
Hardik Pandya
X3 :
Jayant Yadav
. CEIUNCIE ey

X 4 .
Karun Nair

Q.16 3T Sca-ATF( 1 T L A & T T WPl F TEY AT Wfa@T Fl

e ST

b
a4

Select the Answer Figure that is the correct water image of the given Problem Figure.

Problem Figure

b

Answer Figures

b AP

B C D
Ans X' 1 B
X2 A
X3C
v+D

Q.17 f=faf@d & & &ia W 39str Uwfes 5= &1 faggd 7= # shafda
T § ?
‘Which of the following devices converts Chemical energy into Electrical energy?

Ans

v ﬁ?:(-g?l’ qeT
Electric cell

x. P B
Electric heater

X I ERR
Hair dryer

4 faega

Electric fan

Q.18 forafoiaa & & #id o acg F2eg &7 e IRvT & ¥ sH-vegfAtams &
ST o 37

‘Which of the following elements replaced eka-Aluminium in Mendeleev’s Periodic
Table?

An m
) v

Gallium

=TT

Scandium

X2




X3 ST
Germanium
x4 CAETAC e

Titanium

o1 Frey F gAA TR g 2
A computer always has a:

1

. Keyboard

p 3
Mouse

, Tt 1S
Graphics card

x

Q20 r=fafaa & & #ia o sifaew Tfr i & 2T Fganar &2
Which of the following physical quantity measures the rate of work done?

Ans xl dol

' Force
FaT
Energy
v &3 Afer
Power
x o T
Momentum

K2

Q.21 & Has, FHieam o, T I 3R ook dawssyd s anfrm & frm e
afifiaT & v gEy & fEers wore €2

These regional teams: Dabang Mumbai, Kalinga Lancers, Ranchi Rays and Delhi
Waveriders play against each other in which sports league competition?

Ans -, sfEaa WifFEaw o
Indian Premier League
v HEIEIERIRCIE
Hockey India League
X, TRCS AEHCAT Tl H
United Basketball Alliance
| S asEr @l
Pro Kabaddi League

x

Q22 grEEl geleds FT &
Hydra reproduces by:




Ans ag fawear gEr
XL
Multiple fission
2 TEAL AEET g@nRr
Binary fission
X 3 S
Fragmentation
(‘ 4 2.0 E
Budding
Q.23 3eR #r N g F gu, TeIA, wdr fr gE Fr foww F 45° gEh B, Ak A
wdr $r gf Fr Roda R F 135° v R g wE  gE S R 180°
T 81 Il 77, R R # iR G g Ed i
Facing North, Aishwarya turns 45° clockwise, then 135° anticlockwise and then 180°
clockwise. Which direction is she is facing now?
Ans aﬁw
KoL
South
X 2
North
X 3 e
West
v t|:§|’
East
Q24 DWT : GZW : QPM :
DWT : GZW :: QPM :
Ans - X 1 PST
v 2 TSP
X 3 TPS
X4 STP
Q.25 % W eawyEd fFan &t 3N v w5t & gwet F & 75 ST @ a

A fafed & 4

a&:
AT SIEEROT & aor i off fF a8 g@ar @ i e & e sereiv st
TAFT & AT FIF AGAT HT 937 FA qE P

AT

1. JeT @ S 3R AR & @ el AT AT AT e AR aane
# WA ¢l

2. MO HATTAF AIFAT FA § ARG P O T @

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The highway authority had announced that it will be undertaking a major road repair work
for three days beginning Friday between Bangalore and Tumkur.

Assumption:
1. People need to plan accordingly for their trip between Bangalore and Tumkur.

2. The authority is troubling citizens with unnecessary repair work.




Ans

xl_1aﬁtza’m"rﬁﬁ%ﬁ%

Both 1 and 2 are implicit
Fad A 2 Tafga @

) Only assumption 2 is implicit
Faa A 1 Afta @

) Only assumption 1 1s implicit

XA_;ra’Haﬁ'\r;ré’rzﬁﬁ?r%

Neither 1 nor 2 1s implicit

x

v

Q.26

Ans

CO; H FE & Ffcrerd AT Fhae g &
The percentage of carbon in COy; is:

v 1273

X214

X312

X4 44

Q.27

Ans

X & 3 F 128 {& o) PR e A ot & Fo wear 16 o o X S A
¥ w1 I @i

X’s rank was 12 from the top. If the total number of students in the class was 16, then X’s
rank from the bottom of the class is:

vi5
X286
X3 7
X4 4

Q.28

Ans

smyfe seEd anelt & Fia & & aadt 7 s T Higg # 0

In the modern periodic table, which of the two periods contain 8 elements each?
2 33
2and 3
x o 132
1and 2
x4 3k
4and 5
x a3 ikt 4
3and 4




Q.29

3cal WHfaEAr (Answer Figures) 3 & weet Rigat & Tua 9X 37at arell @@y
Eucacibeil

Problem Figure

Answer Figures
O TETA
INLALS)
1 2 3

Choose the correct figure from the answer figures that replaces the question mark.

Prqblem Figure
ENNCIE

Answer Figures

oOre

Ans X' 1.3
X2 4
Va2
X1
Q.30 =fg famalt Faermer & e foreww o T & aftEfda & smar & & g% pH

TR =T g & FeE B
If a solution turns blue litmus red, its pH is likely to be:

Ans xl_g
X227
AN
X 48
Q31 Fr T v fAehedl # & HafOT 20 Tl IAF HL

Ans

PUNE : SXQF : CITY :
Select the related letters from the given alternatives:

PUNE :SXQF :: CITY:
< 1 EKVZ
X 2. FLXZ
X 3. GMVZ
v 4 FLWZ




Q.32

Ans

50 T
as

35 35

+
15 = = B
10 H = = =

s | BB

jan feb mar apr may jun

jan- FAdr feb- =Y mar- AT
apr- 3 may- FE Jun- =
femm Tm s X aew & #2017 # 6 #AET F AwF T=hewor A T A
F (g ) = &)

A mE A, Tgeh FEw awE () # o gEh wEE g A (Fem) w5
gafiar &1

T 7w 3 F HUR W, 7 2017 F 9% F HANGFT T=FS TR H
TET 2 37

50 T
as
a5

40
35 35
35

30
25
NEERERL |
20 [ | 17
1 v
15 H = = =

10 - R

5 - B B

0 l

jan feb mar apr may jun

The given graph shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes (grey) and the second number
represents total vehicles (black).

Based on the given data, in March 2017, the number of vehicles other than bikes
registered is:

# 1.9000

# 211000
v'3.10000
# 415000

Q.33

el fvsor & 3 it a=tly 7 e 7 : 8 ¥ wafE a= ot Wl &
I 6:7 @1 e #F 3@ 3t W @ e #= e

The ratio of sand to gravel in a mixture is 7 : 8 while that between gravel and cement is 6 :
7. What is the ratio of sand to cement in the mixture?

ans X177
X28:6
v3:4
7449 - 48
Q.34 B R & FAC & S & AT Y ST S 2
is known as India's Spice Garden.
Ans

FTA

- Kerala
TR

2.
Rajasthan
X 3 eAICeh
Karnataka
He®g
Maharashtra

v

X4




Q.35 m?ﬁmﬁrmm#m@raﬂ?ﬁmsa&mw?ﬁmaﬁmw
& 37 & 2.5 T ofl TH H TOAF 37 FA §7

Ram’s father is twice as old as Ram is. Eight years ago the age of Ram’s father was 2.5
times his age. What is Ram’s current age?

Ans
1 25 I
25 years

23 I
X 2
23 years

, 24 9§
(3.
24 years

22 ¥
4.
" 22 years

Q.36 20kg HIR &1 UF TEG H 2m B FAE T SS AT ¥ 3W IFG W
TRECATHIUT T AN foRAT A F fhaer g 2

(FTT o g =10 m/s?)
An object weighing 20 kg is raised through a height of 2 m. What will be the work done
by the force of gravity in this process?

(Take g =10 m/s?)

Ans 40 el
XL o
407

100 SfeT
2%

X 2

1007
400 ST
Vi N

40017
50 el
4. o~

5017

x

@37 37T HTFAISS AN TR BN &:
Non-metal oxides are usually:

Ans X1 e
basic
Ferarerst
amphoteric
HET
acidic
3THT
neutral

2.

v

X a

Q.38 anfifer wfetor 2017-18 & IFWR, ¥NA & Wehel =i 3cG (GDP) # Far &y
F1 ST Fee Felotaa & @ By @ F | e

As per Economic survey 2017-18, the percentage contribution of the Services Sector to
India’s GDP will be in the range of:

me o, 30-40% %
Between 30-40%
, 40-50% & &

Between 40-50%

x




330%'@3741

X
Less than 30%
50% ¥ 3Tk
W 4
Greater than 50%

Q.39 TEr & Tt dF # T600 N AV T FTAT FAT W 3T 8% Wiy I F
HIYTIOT =OT=T WTod g1 81 afE TEr o 59wl g% &% & uaufer #r w@r ar 5@
= F w9 H Faer ufdr areg geie

Rahi deposited T600 in a bank that promised 8% simple interest per annum. If Rahi kept
the money with the bank for 5 years, she will earn an interest of :

Ans 1. T480
v 2 2240
X< 33200
< 4280

Q.40 TR FEIHAT SUFTRT T Feg & FROT IS AT & Fi F Frenera
&7 F g @ H UF 39gAT FLEAT T57 A4

Which assembly constituency within Chennai city was forced to have a recent by-election
because of the death of then Chief Minister Jayalalithaa?

Ans ﬂarqz
XL
Saidapet

HR. . T
2
RK Nagar
X3 <
Thousand Lights

TATTH
X a4 2

Royapuram

4 =rcareed fFadr ufdar e
Implantation is the process of:

Ans Kl,
ATAT & 91T & 3T Uk T=<F &l [9h

the development of a child inside the mother’s body
$OT 31T ST HreyoT o faerar
2.

developing an embryo and its nourishment

x

v )
e, TR 3 SR & TIAAS T 3

attachment of zygote to the lining of a uterus

X 4
AT & & T o & Aregd 3§ giyor

nutrition from mother’s blood through placenta

Q42 11111 FraTE:

The square of 11111 is:
Ans  of 1123454321




< 2.1234321
X 31223311
X 4321231

Q.43 foFm R #fa=dr (S arg 7 TTardr /=T) @ 2017 7 et aRweRa
HTfiGHE TR Tred gHT?
‘Which Indian actor-turned-politician won the 2017 Filmfare Lifetime Achievement
Award?

Ans X1 e @
Vinod Khanna
K2 ﬂﬁa

Dharmendra
orgesT fhwer

3.
Shatrughan Sinha

x , HTATT FTIT

Amitabh Bachchan

v

4 RrATART & W it AT U TSRy & 2
Which of the following is a Pythagorean triplet?
Ans 1 2,35
X 27911
v 38,1517
< 4.17,21,29

Q45 T I A AT it T AT AT F e v mE 7
T = ¥ i ¥ ey B o = §

FUT
Tl a% FofeE § #E o Aol WIT =& B

forsd:

1. 15 ofr |iT ok T T
2. T ofr o T 7 F

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the statements.

Statements:

All sharks are fish. No fish is a snake.

Conclusions:

1. No snake is a shark.
2. No shark is a snake.

Ans v 3R 2 A= ITETT w2
Both 1 and 2 follow.

xz_;ra’ﬂsﬁtfrr?rza@ﬂ?wm%l

Neither 1 nor 2 follows.




| e TR 2 3igEer FIT B
Only conclusion 2 follows.

T TS 1 AT FaT B

Only conclusion 1 follows.

x

X a

Q.46 A, B3R C et e &3 # 10 R & 5o = &3 B Ak B Bwew
57 FF # 12 A # wArg = ¥, F9f B A ¢ v e Beew o8 e
w120 Rt & g w # R B 3w T ER @ WY o 3@ F A W e
# fraer R R
A, B and C can complete a task together in 10 days. A and B would need 12 days if only

the two of them worked, while B and C would take 20 days if only the two of them
worked. If B worked alone, how many days would she take to complete the task?

Ans Xl_ 22
X2 45
v 3 30
<420

Q47 3iferefiei #r 3MYfd T & W dt Fege B B

Alan flame is produced when the oxygen supply is sufficient.
Ans 3-‘?[
p 8
green
X 2 Tl
orange

SArelr

blue

o, O

red

v

Q48 =g STHIPG TG ba ST [S13 P SO Tl 6 Debei|

219:: I =S T: =T
Select the missing term based on the given related pair of words.

:Hand :: Sole : Foot
Ans o3

Q.49 ¥ Redl aET F T Haw uger $7 o 3T 5% sawwer A Raw
|
The founded the first city of Delhi and named it Indraprastha.

Question ID : 9864492095




Ans

-
Pandavas
Tt
KXo 2
Mughals

_ goEnferar
X3 2
Portuguese
wiar

Kauravas

v

p

Q.50

A o fF e fEl & & 99w # e §S @ §A Ogied aaet €, 39
TaFeT 1 T FY AT T C F RBU 0w BEe (?) F aCT G B

A B C
Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

ans X147
X235
X345
V137
Q51 ABC$+#DEF&=?GHII2+@

Ans

3N ITefhH & IR W e dod 9 F 93T H|

ADG : +=2 = CEl : ___
ABCS$S+#DEF&=?GHI2*@
From the above sequence find the missing term.
ADG:+=2:CEI:

V1 D7@

X 2. D@?

X3 E?@

X« E@?




Q.52

Distribution of various Minerals in Human Body
Sodium
%

9%
Potasiut

"

18% Magnesium

Caicum wMagnesum s lron e Potasium e Sedium

Distribution of various minerals in the human body- Aaa eifX # fafde
etew @1 faawor

Calcium- Fiere
Magnesium- H7hfEmm
Iron- aligr

Potassium- grefRma
Sodium- TfETw

Rar arr e AT AT F @fEst $ /o R

fw T et F T W, AT R F gy mew wfeew wfyea A gmy
TEE FA IR T O F IS #7482

Distribution of various Minerals in Human Body
Sodium
"

™
Potasiur
0%
Caleium
5%
fron
18% Magnesium

s Calcm @ Magnesum & iron ® Potasium e Sodum

The given graph shows the distribution of minerals in the human body.

Based on the given data, what is the ratio of the metal with the second highest percentage
of distribution to that with the second lowest percentage of distribution in the human
body?

Ans x14 -1
X231
X312
va2:1
Q.53 A 3T T Tar Fd F FA: 6 {7 A 7 0 T €1 IR T QA

TRt T U €, A F For 3 780 3T e B | W HAUTY 7 3 AT v
I

Arjun and Anurag complete a job in 6 days and 7 days respectively. They worked together
and earned a total of ¥ 780. Find Arjuns’s share in this amount in T?

Ans - X 1490
2 420
X 3560
X 4350
Q.54 TE EwT 12 TiemaHt F W fwa 37F 24§ AT A 3w G% 23 Hwa

Ans

3 gred faw § Afta sEer dhaer 9 ofient & §| o ude wlem A 30 F @
3% Rw o &, e @ A9 A et & @, Bl v F FwF d wR
aer 31 TR Tod FG g, Al a7 THT F T FT AFEA B F
Ftehr a1 wWH?

The average marks obtained by Raghav in 12 tests is 24. Zubeida has maintained an
average of 23 so far but has taken only 9 of the tests. If each test is out of 30, at least how
much must Zubeida score in any one of the remaining three tests to still have a chance to
match Raghav’s performance?

X120




X219
X322
v 21

0% el A1 A 3Tl Tl Wel =& &1 I |

Fill in the missing space with the correct figure.

Ans xlA
X2C
V2D
X+ B

Q56 g Uit caferd of Ut HegEae a1 A T o &7
Which celebrity is the author of the book ‘An Unsuitable Boy’?
Ans e g
X2
Khuswant Singh

% e gt
Shatrughan Sinha

Vs FLA AT
Karan Johar

X AMETT WA
Shah Rukh Khan

Q.57 Rt 5= Zay & 30 #HeX gY vF $ANSA & IR & FEwAw wor 30° FH @
#r Fars et &7
The angle of depression of the foot of a building from the top of a tower 30 m away is 30°.
How high is the tower?




Ans 2043 #HreT
KoL
20v3m
X2 30 #Hrex

30m

x 5 20 T
20m

, 1043 #HeEx
1043 m

v

Q.58 2018 ¥, Feafaearerr e amdieT (FFH) & reweT B g2
As 0f 2018, who is the Chairman of the University Grants Commission (UGC)?

Ans Klmmﬂﬁ

Anil Sahasrabudhe
FASTHAT gl

2.
Najma Heptulla

X3 k. IRET
V.K. Saraswat

" . 4. g

D.P. Singh

x

Q.59 = vF I THEA el AT Fee FA & A HeAteE # ® S @
afafea & &7

Which of the following changes when a body performs uniform circular motion?
Ans T
X 1§
Momentum

<, T
Speed

ScHATA
Mass

f&ar

Direction

X3

v

Q.60 e F TIAW FH IW K ToAN 37 F 1.5 T3 ¥ 3 a9 FA ¢ 12 7§ T{H
3T H 3 WA B 3H F WY F 3 a¥ sarer o (o H TEAS 37 =T 82

Roshan’s current age is three years less than 1.5 times that of Usha’s. 12 years ago Usha’s
age was three years more than half of Roshan’s age. What is Roshan’s present age in
years?

Ans X 133
X239
v a2
X 430

Q.61 FAT & TF UHS ¢UE T I I by w5 16% o afow famam oy
50 FRE F 1,500 & wiier o & 3Ee 3 A & &=

Qamar gained 16% on the resale of a used stereo. If he purchased the item for ¥ 1,500,
how much did he sell it for?

Ans  of 1 T 1,740
X 2 T1.820




X 3 T 1,660
X 4 T 1,600

Q.62 Fuw W wWEw fFuR & 3N fav #Y & W e @ Fa @ smEe
fafe & &1

T
A & HET T T, A A T 1 Hed graAe e g1

31%11'5[:

1. ¥at daer e gie = &

2. 3eFaT ST N HTAT T T TR B

Consider the argument and decide which of the given assumptions is/are implicit.

Argument;
Akbar said to his queen, “Birbal is the wisest man in my kingdom.”

Assumption:
1. Akbar is not as wise as Birbal.
2. Akbar wants Birbal to become the next king.

Ans Xl-1 3k 2 g fea €

Both 1 and 2 are implicit

s A 2 R
2.

Only assumption 2 is implicit

3_«'-rr-fr1 irTadr2fzad

Neither 1 nor 2 is implicit
Fao 3 1 g &
4.

Only assumption 1 is implicit

x

x

v

Q63 for Al & ¥ Fuhr 3eTpa A+ e AT 82
‘Which of the following animals has a comparatively longer intestine?
Ans FedT
xX1”
Dog
ElE2)
2.
Tiger
LI
Rabbit
X a4 ;

Fox

V3

Q.64 2016 # weiie g%, el & & i o Jgehr serrelr fhew § fower 100
FE F FAE F UsT F 9R Far &2

Released in 2016, which of the following is the first Malayalam movie to cross the 100-
crore revenue mark?

Ans
o | 3 T Fe
Oru Vadakkan Selfie

22 2
Pulimurugan
EEaER

Premam

X3




IH
4.
Drishyam

Q85 Tder &Y TS FAT &

Ans

The unit of momentum is:
v 1 Kgms™!
X 2. Kgms—?
X 3 Kgms?
< 2 Kgms

Q.66 T T wear W RER & 3R 9w # fF Pefef@a wue & @ #a-ar e

Ans

e T Il &7 F o g #
14$20+8#4 FT AT FT &2

HYe:

1. § & OCTd -, « F AT +, # F AT =
2. 1482048 = 25

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the value of 14$20*8#4?

Statements:

1. $implies -, * implies +, # implies +
2. 14$20*8 =25

X
AT FUA 2 AT § SaiF FaoT FUF 1 TAT 74T ¢
Statement 2 alone is sufficient while statement 1 alone is insufficient
x¢mm1ﬁwaﬁmhﬁ
Both statements 1 and 2 are sufficient

| @ Fua 1 aEed § 7 Fua 2 &

x
Neither statement 1 or 2 is sufficient
v
AT FUT 1 GACT § FafF Fael AT 2 TATT Fal §

Statement 1 alone is sufficient while statement 2 alone is insufficient

Q.67

Rfai@e far o faer gt 22

How many triangles are present in the following figure?




Ans X112
X216
X314
v 415

Q.68 U F F HUN F &S 64 T HeleT § FAlE swH R FS 17
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| Tier 1 =2 foger g

The area of the base of a cone is 641 cm? while its slant height is 17 em. This cone is
remolded to obtain a solid sphere. The radius of this sphere will be:

Ans 1 8V30 #dmfex
830 cm
2 2V40 #éeT
2V40 cm
| 2¥30 wé&re
230 cm
x , 6.5 TERM

6.5 cm

-

Q60 By FE FIFAFS F FH A F AT AT &
Solid carbon dioxide is known as:

Ans
v 'ﬂ:&ﬂ' -
dry ice
, rem @
wet ice
| I
gas ice
3T

solid ice

X

x

Q.70 urzw A 3y C R @rel & #r waer 32 3 48 ue H ;W TFA § F9F
oET B oY T &% & 24 WX # Wil F @t g1 Iy S st Fogwar
Grer far =T ot & @ 2/3 9t & e g e

Pipes A and C can fill an empty cistern in 32 and 48 hours, respectively while Pipe B can
drain the filled cistern in 24 hours. If the three pipes are turned on together when the

cistern is empty, how many hours will it take for the cistern to be 2 full?
Ans X1 9B
X248
X372
v+ 64

Q.71 5o WIRYT a1k suiot & &t H A wwel 2 anf ¥ T 300 & ik 3

At 8% simple interest per annum a sum of money becomes ¥ 300 in 2% years. What was
the sum nvested?

Ans X 1. 240
X 23275
X 3.2 260
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Q.72 7 # ¥ Fa A1 a7 M@ FFafaf@a et & wer &1 A ufafafied Far

Ans

&

e, foaT, ST

‘Which of the following Venn diagrams correctly represents the following classes:

Men, Fathers, Doctors

XL

v

BEEC

p

Q.73 T 71v wueT F W AfAv Ak R v Hivr F RF wma FF

Ans

faftas &7 @ Fia ¥ Fewd Bwer o T F

wU:
aTEt F @ GTer FF ST AgeR dfsw & e ot # 9w w@ F

o

1. T HRERT B At s S @ @i
2. ugdt R arEt & Few ofEga dEEt F IR @ ofw

Consider the given statement to be true and decide which of the given conclusions can
definitely be drawn from the statement.

Statement:

Many people living in villages relocate to cities for a better future.

Conclusions:

1. Government officers should have compulsory
rural posting.
2. Increase more transport facilities between cities and villages.

el fasehy 2 HTEROT FT T

Only conclusion 2 follows.

_ 1 3R 2 2t sgeer = F
Both 1 and 2 follow.

| S AR 1 3IET HA g

Only conclusion 1 follows.
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x
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Neither 1 nor 2 follows.

7 fad Tue # wEW 39gEd T o |
18 aree = x3 3EH |

Fill in the blank with the most appropriate option.

18 volts = = 3 ohms.
Ans X1 6 dic
6 watts

3.
& milliamperes

6 Slel
X o

6 joules

7 fET T IFHA H A Ie [aheut § A

Y-25, W-23, U-21, §-19.?

Select the term missing from the given series.

Y-25, W-23, U-21, S-19, ?
Ans X' 1 P_16
v 2 Q-17
23 Q-10
X488




